Multipliziere Dezimalzahlen mit negativen

Zehnerpotenzen

Name: Datum: Ergebnis:

2358,2 x0.001 = 3928 x 0.01 =

8308,3 x 0.01 = 1694, 1 x 0.001 =

7636,9 % 0.01 = 4028, 6 x 0.1 =

2952,4 x0.001 = 6375,5x0.01 =

5930,6 x 0.1 = 3414, 6 x 0.0001 =

8118,9 % 0.01 = 3216,7 x 0.001 =

9290, 4 % 0.0001 = 3313,3x0.01 =

4923,1 % 0.001 = 9749, 4 x 0.0001 =

5686, 1 x 0.1 = 9478,9 x 0.0001 =

8628,3 x 0.01 = 6963,3 x 0.01 =
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Zehnerpotenzen

Name: Datum: Ergebnis:

2358,2 % 0.001 = 2.3582 3928 x 0.01 = 39.28

8308, 3 x 0.01 = 83.083 1694, 1 x 0.001 = 1.6941

7636,9 x 0.01 = 76.369 4028,6 x 0.1 =402.86

2952,4 % 0.001 = 2.9524 6375,5%0.01 =63.755

5930,6 x 0.1 = 593.06 3414, 6 x 0.0001 = 0.34146

8118,9 x0.01 =81.189 3216,7 x 0.001 = 3.2167

9290, 4 % 0.0001 = 0.92904 3313,3x0.01 =33.133

4923,1 x0.001 =4.9231 9749, 4 x 0.0001 = 0.97494

5686, 1 x 0.1 =568.61 9478,9 x 0.0001 = 0.94789

8628,3 x 0.01 = 86.283 6963,3 x 0.01 = 69.633
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